
5 cm 

1 cm 

14 cm 

10 cm 

8  cm 4 cm 

(you don’t need to do the perimeter 
for this one) 

      
 Area    _________cm2 

5 cm 

8 cm 

5 cm 

9 cm 

Perimeter __________cm 
 
      Area    _________cm2 

A 

1 cm 

1 cm 

4 cm 

9 cm 

1 
cm

 

Perimeter __________cm 
 
      Area    _________cm2 

B 

11 cm 

8 cm 

6 cm 

2 
cm

 

Perimeter __________cm 
 
      Area    _________cm2 

C 1 cm 

4 cm 3 cm 

4 cm 

2 cm
 

1 cm
 

3 cm 

4 cm 

Perimeter __________cm 
 
      Area    _________cm2 

D 

E 

AREA and PERIMETER NAME_____________________ 

4cm 

4cm 

2 cm 


